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~

Match COLUMN A with the correct answer of COLUMN B!

COLUMN A COLUMN B

1-ACID A - FUELS

2 - AR B - LAYER

3 - CLINATE C - SPECIES

4 - CLOTH D - SAVING

9 - DISPOSABLE E - DUNP

6 - ENERGY F - GROUPS

7 - ENDANGERED G - RESOURCES
8 - ENVIRONMENTAL H - EFFECT

9 - FOSSIL I - RAIN

10 - GLOBAL J - CONDITIONING
11 - GREENHOUSE K- BAG

12 - HELTING L - CUP

13 = NATURAL M - CHANGE

14 - 0OIL N - RESOURCES
15 - 0ZONE 0 - ICEBERGS
16 - PLASTIC P - PANEL

17 - RECYCLE 0 - WARMING

18 - RENEWABLE R - PACKAGING
19 - RUBBISH S-BIN

20 - SOLAR T = SLICK
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Match COLUMN A with the correct answer of COLUMN B!

COLUMN A

1-ACID ‘
5~ CLINATE Answl-:gs

4 - CLOTH

9 - DISPOSABLE
6 - ENERGY

7 - ENDANGERED
8 - ENVIRONMENTAL
9 - FOSSIL

10 - GLOBAL

11 - GREENHOUSE
12 - HELTING

13 = NATURAL

14 - 0OIL

15 - 0ZONE

16 - PLASTIC

17 - RECYCLE

18 - RENEWABLE
19 - RUBBISH

20 - SOLAR

COLUMN B
1 - RAIN
J - CONDITIONING
M - CHANGE
K - BAG
R - PACKAGING
D - SAVING
C - SPECIES
F - GROUPS
A - FUELS
0 - WARMING
H - EFFECT
0 - ICEBERGS
G - RESOURCES
T - SLICK
B - LAYER
L-CuP
S - BIN
N - RESOURCES
E - DUNP
P - PANEL
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